.     Work Problems    .
(Not assessed in AS1.2 Algebra Methods, now in AS1.4 linear Algebra)
1:
The field is twice as long as it is wide. 

The length of fence around the field is 120m

How wide is the field?

Step 1:
Draw a picture 

(put on information)

Step 2:
Form an equation

Step 3:
Solve the problem

2:
A different field is 20m longer than it is wide


The fence around the field is 160m



How wide is the field?

3:
A students age is doubled, then 6 years are subtracted.  

The result is 26. 

How old was the student?
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